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Slab thickness and DDM

1. Which one of following relation is correct :
(A)Design shear sirength is greater than required shear
(B) Design shear strength is greater or equal than required
(C) Design shear strength is lesser than required shear strength.

(D) Design shear strength is lesser or equal than required shear strength.

strength.
shear strength.

Answer (B)
2. Concrete slab carried directly by columns , without the use of beams of girders , such slab is described
by:
(A)Flat plate
(B) Flat slab
(C) Solid slab
(D) Waffle slab
Answer (A) £
3. Concrete slab carried directly by drop panels , without the use of beams or girders , such slab is

described by: T
(A) Flat plate ’% 3
(B) Flat slab ’ -
(C) Solid slab ‘

(D) Waffle slab
Answer (B)

4. If the ratio of length to width of one slab panel is larger than 2, then most of the load is carried by :

(A)Long direction.
(B) Short direction
(C) Long and short directions.
(D)None of them
Answer (B) .
5

all be treated as square column that has a s
: Fﬁ‘m:l A b

5. circular column that has diameter equals to 500 mm, shi i
length equals to : : 5T
(:f 400?nm B)440mm  (C)#4smm  (D)450 mm 1 63 : ‘».l, A
Answer (C) (0.89 x 500 = 445) 0 e T e

6. Enlarged head of a supporting col S
(A) Supporting end of column

Answer (C)

7. Projection below the sl
minimum required slab
(A) Supporting end of column
Answer (D)

8. Panel is a slab portion bounded by :
(A) Column.
(B) Beam
(C) Wall
(D) Column, beam and wall’

Answer (D)

umn of a flat slab is technically known el
(B) Top of column (C) Capital (D) Drop Panel

of negative reinforcement over a column or the
slab shear strength in technically known as :
(C) Capital (D) Drop Panel

ab used to reduce the amount
thickness, and to increase the
(B) Top of column
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A. Ch NSwer g
] Thoos? the correct answer us, f all questions
- e minimum ‘hickm:SS fo; ﬂc y ™ 420 MPa:
. 1(A) 90 mm i at slab shall not be less than: (20 Marks)
\ e
'he minimum thickness for ) (.)0 i (€) 125 mm
(A) in Or interior panel for flat slab witt {9) 150 min
33 ®) & with drop panel due 1o deflection control is:
3. The minim . 30 © ¢
um thickness for exter %0 (D) =
(A) 90 mm rior panel (4.5 X 4) m for flat plat with . :
4 : (B) 100 m plat with-edge beams due to deflection control is:
- The minimum thickness for ext i (€) 250 mm (D) 140 mm
¥ er A e .
deflection Rodivees 1or panel for flat slab with drop panel and with edge beams due to
A 2 ¢
e ®% © 2 D)
- 1he minimum thickness for interi 36 D)3
(A) 200 mm or interior panel (6 X 7.2) m for flat slab with drop panels due to deflection control is: -y
B. PFindthe mia _ (B)150mm (C) 120 mm (D) 100 mm
€ minimum thickness for slab with beams ,use f, = 420 MP ¥
1. Slab with beam Aoy ot (20 Marks)
X Y s (7.8 X 7.8) m clear span with a.= 3.4
Qz‘ Slab with beams (6.1 X 5.2) m clear span with o= 1.4 ‘

A. A simply supported symmetrical I prestressed beam, of span 12 m and its cross section is carrying a live load
equal to 10 KN/m. in addition to its weight compute following allowable stress and compare it with ACI allowable
stress: Use y = 25 KN/m®, 1= 4 X 10° mm', A, =100 x 10* mm’, C, = Cy= 300 mm, Pi = 800 kN, Pe = 600 kN,

(20 Marks)
1. Top fiber stress at ends in initial stage is : mm‘ { \
(A) =5 MPa (B) 1.5 MPa (C) -3 MPa (D) 4 MPa \ =
2. Bottom fiber stress at mid span in final stage is : Sora] SRS
(A)1.875 MPa (B) —3.25 MPa (C) ~124MPa (D) L.I3MPa | o = i
3. Losses in pretension concrete are posttension concrete. 2
(A) Smaller than. (B) Larger than. (C) Same as. (D) None of them. ;@
B. A simply supported prestressed beam, of span 12 m and its cross section is shown in Figure, is carrying a service
load equals to 10 kN/m. Compute the required prestressing forces for: (20 Marks)
a. Top fiber stress equals to zero under beam weight plus prestressing force only. .
he

450 me

b. Bottom fiber stress equals to zero under full loads. T T
Use ye =24 KN/, 1= 11 x 10° mm, A, = 130000 mm’, Lo 5 :
g :
2
boole

is carrying a service load
(20 Marks)

Q3: A cantilever beam, of span 10 m and its cross section is shown in Figure,
equals to 10 {N/m. Compute the required prestressing forces for:
a. Bottom fiber stress equals to zero under beam weightzphls prestressing force only.
Use v, = 24 kN/m’, 1= 18 X 10° mm*, A, = 120000 mm".
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The minimum thickness of an exterio : !
S T ) panel in a flat plate without edge beams (f equals 280 MPa) itk s

The minimum thickness :@eﬂor panel in a flat slab with drop panels (f, equals 420 MPa) is taken as:

L a)t/33  b)/34 d) £,/40

The minimum thickness of an exterior panel in a fl
|
o e o ?n i atsabmthdmppanelsandwnmomedgebemns(f,equalsdeh)m-kmu

L In Direct Design Method, I, (the moment of inertia of the effective beam) is based on the:
a) Effective concrete section  b) Gross concrete secti ¢) Cracked W

A circular column, that has a diameterequals to 500 mm, shall be treated as square column that has a length equals to:
£~ )400mm  b)4d0mm ) 445Smm) d)40mm> - e

o Enlarged head of a supporting column of a flat slab is technically known as
a) Supporting end of the column  b) Top of the column (ci _E_ ‘ !) d) Drop panel

In equivalent frame method, & will be
b/’ a) <4 b) <4 c) =4

Stiffness of equivalent column (modified column stiffness) is
a) Greater than stiffness of column  b) Equal to stiffness of column ¢) Lesser than stiffness of column  d) None of these

; Inequivalauﬁmmmethod the fixed-end moments for a uniform load (w) will be
D( a) < ) b) = w12 c) > wt’ﬂ‘z@

d) None of these

) Design shear strength is greater than or equa to shear required

g sl ot shear strength  d) Design shear strength is lesser than or equal to shear required

ameter of the stirrups that cannot be used is of

d) Yield lines may be intersect

resisting moments are different in two perpendicular directions
3) The resisting moments are equal in two perpendicular directions

Cracks in conerete  d) Friction

formwork may be required d) All the above

0 & fi< 062k
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